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UABAZ2IE o CfO|LHQUSUIMAHMIWD AHE6T : £8H10.3km/ [TAZH9 3km/0, TEZ211.7km/2] | 81712 : 2,157cc | B2HEZ © 2,070kg | CO2 HIZE : 190g/km | 452 oCHO|LHLSRIMAHMAWD AHE6T : £3H10.0km/¢ [TAZH9. 1km/l, DEE2
11.3km/2] | 8712 : 2,157cc | 2221 2,180kg | CO2 B2 : 1960/km | 453 o THI2| A AMHIWD AHS6EH: 25H10.3km/ [E*'z%ﬂ9 3km/e, DEZZ11.7km/0] 1812|122 2,157cc | BREZ : 2,135kg | CO2 HIZE 1 190g/km | 45T oTHQI2|ZAAHMAWD
AHS6T : =31 0.0km/0 [SAZH9. 1km/0, DEE211.3km/2] | 817|121 2,157cc | BAZEZ : 2,215kg | CO2 BIZ2 : 196g/km | 452 * YGHH| =T} RO 4227|2024 (/EI0|0|HE7|F : 2| TMATH235/70R17XL, CHO|L{Q52 M AR M235/70R17)
E[E2] o1 5 E{I1AIWD AE6E | BEH2 Skm/t [SAIZH11 Skm/e, DAE213 9km/i] | 4712 : 1.497cc | BAZ2E 1 1,305k | CO2 B : 131gkm | 352 1.5 ElRIHAZWD AHE6CHBAHIE(16013) - BBH12 0kt [SAIZH10.8km/2, DAEZ
13.8km/2] | 81712 1,497cc | BB £1,360kg | CO2 B2 - 138g/km | 383 o1.5 EASIH&RIWD AHE6CAHBII3B(18UA) : =811 8/ [SHZ810.6km/s, DEER13 Skm/1] |47/ 1,497cc | BHER : 1,360kg | CO2 B8 : 140g/km | 353 o1.5
E{271424WD 26T Z5H3Z : £8H10.8km/2 [TAIZHO 8km/2, AT 212 3km/2] | B17|2¢ 1 1,497cc | B2HEZ : 1,470kg | CO2 HiEZ : 154g/km | 452 ¢ 1.6 CI2WD AHS6TH16912]) - £8H5.2km/0 [SAIZS14.1km/s, TAZ216.6km/2] | 817|Z: 1,597cc
| BAZ2: 1.475Kkg | CO2 B : 124g/km | 253 o1 6 CIIWD AHE6EH(1B9IZ) : 214 0km/g [SAZH13 8km/2, TAE216 4km/2] | 47/ : 1,597cc | B2 1.475kg | CO2 MBS : 127g/km | 253 1 6 CIHAWD AHEGEH : =8H13.0kmy/2 [EAIZ4
12.6km/8, DEZ215 8km/2] | 847|122 1,597cc | B2 1 1,530kg | CO2 BHEE : 1370/km | 253 * QISH=71 e 4227|2248
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